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. Level | Level | Level | Level Level Level
Question LO1 LOZ LO3 1 5 3 4 5 6

Activity 3.1

3.1.1 1 1

3.1.2 4 4

3.1.3 2 2

3.14 2 2

3.15 2 1 1

3.1.6 3 3

3.1.7 4 4

3.1.8 2 2

3.1.9 10 10

3.1.10 4 4

3.1.11 3 3

3.1.12 2 2

3.1.13 4 4

3.1.14 2 2

21 12 12
46% | 27% | 27% 91% 9%
Activity 3.2
15 5 5 1.5 13.5
50% | 25% | 25%
10% 90%
Activity 3.3
10 5 15
67% | 33% 100%
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TASK 1 READING, ANALYSIS AND INTERPRETATION OF MAP S AND
DATA HANDLING

ACTIVITY 1.1 GROUP ACTIVITY (40 minutes)
G:LO1:AS12,13,14

MAP WORK

Note to the educatomDivide the class into groups of three or four. Eachup must have a pair of
scissors, a ruler and protractor. If they don’t learulers and protractors they can cut out the ones
printed in the resource book. If the group has asde an atlas they may use it but it is not
essential.

Each group must hand in their combined answera sheet of paper, together with source 2, 3
and 4. It is only necessary fonetopographical map sheet, source 1, to be handédooeach
group.

Task lis meant as a baseline activity to revisesicmap work skills. You may wish to let the
learners mark their own work and go over the answiafore they attemptask 2individually.

1.1.1 Answer drawn on Source 2; see the map below (2)
1.1.2 Answer drawn on Source 2; see the map below (1)
Note to the educatorThe learners will have to take note of the latguand

longitude of the topographical map code i.e.: 32D7€fers to32 S and 27 E. The
learners need to find where these lines intersec®ource 2.
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1.1.3 | Town Latitude Longitude
Cape Town 34°00'S / 33°55'S 18°20'E
Durban 29°50'S 31°00'E
Port Elizabeth 34°00'S 25°40'E

1.1.4 See the map on the previous page.

1.1.5 | Location Direction Bearing
Cape Town WSW 262°
Durban NE 51°
Port Elizabeth SW 235°

1.1.6 The scale of Source Isimaller than that of Source 2.

Reason: less detail shown in Source 2, or, alaga is shown in Source 2.

1.1.7 | Feature Map symbol
317
\>No of trig
beacon
516
S Height (m)

A

B Not the monument symbol
C

D

Page 5 of 15

(6xY4=3)

(@)

(6xY4=3)

(@)

(4)
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(3)
[20]

ACTIVITY 1.2 INDIVIDUAL ACTIVITY (40 minutes)

1.2.1

1.2.2

1.2.3

1.2.4

1.2.5

MAPWORK SKILLS, SOCIAL AND ENVIRONMENTAL
CONFLICTS IN SA
G:LO1:AS11,13,14,LO02:AS2.1,23;,L3:3.1,3.3,34

Note to the educatorearners will need a 30 cm length of string or aafedividers
to answer this question as the road does not fod@traight line.

21,5 cm (Accept answers in the range of 21 to 2P &M 75 km. Then add the 49
km annotated on the map = 59,75 km

S=D/T

T=D/S

=59,75 km / 100 km/hour (also accept distance: 59 — 60 km) (2 marks for
correctly putting the answers into the formula.)

=0,598 hours

=36 min (1 mark for the final answer)

240 m (Refer to the height of the contoue ktosest to the dam wall)

. Narrow gorge, minimise dam structure
. Large volume upstream

. Below confluence, two catchments

. Need for water in the area

@)

3)
(1)

3)

Note to the educatorthis question involves a higher order thinking prss and the learner
will need to analyse the map info on the topogrephinap and draw on their geographic

knowledge base.

. Interfere with flood regime
Interfere with fish migration
Remove silt and nutrients
Release oxygen-depleted water
Dams trap silt

(Any four)

(4)
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. Reasons why men are attracted to the
Reasons why men leave: Push factors g
cities: Pull factors
« Lack of jobs * 'Bright I}ghtS / Recreation and
« Drought. floods entertainment
gnt, . ¢ Better chance of getting a job
* Lack of opportunities . .
Nothi P * Better, more reliable salaries 3%0=6
othing to do * Better facilities - hospitals (3x2=6)
. Manual labour falls on the women, addedienr
. Gender ratio skewed
. Family life disrupted
. HIV brought back (3x2=6)

(Three factors discussed)
Note to the educatorthis question involves a higher order thinking pes and the learner
will need to draw on their geographic knowledgedbas

Note to the educator:A 'Buffer Zone' will need to be explained to #rhers before they
answer question 1.2.8.

Background from Wikipedia

Definition of a 'buffer zone": The region near therder of a protected area; a transition
zone between areas managed for different objectivésource: Wikipedia)

In geography, a buffer zone is any zonal area g®&tes the purpose of keeping two or
more other areas (often, but not necessarily, coesit distant from one another, for
whatever reason. Common types of buffer zonesraemnpelts.

Buffer zones can be set up to prevent violencagpirthe environment, protect residential
and commercial zones from industrial accidents.

Buffer zones often result in large uninhabited o&gi (similar to nature reserves, although
without tourism) which of themselves are somewlméque in many increasingly paved/
developed, crowded parts of the world.

On the topographical map the green belt betweeng Kivillaim's Town and Zwelitsha
provided a buffer to prevent the previous 'whité/oand 'black only' residential areas from
mixing and people from interacting with each other.

1.2.8 a) Green belt, railway line, river, poweel (any two) (2)
1.2.8 b) Number of facilities King William's town Zwelitsha

Schools 4 13

Post offices 1 0

Places of worship 6 10

Police stations 1 1

Recreational areas 8 4 (10x¥2=5)
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The quality of life for people living inikg Williams Town would be better

as they have for access to recreational areadice gtation and bigger
schools.
Note to the educatorShould time allow, the comparison between theitesl

available in King William’s Town and Zwelitsha atiek resultant quality of life
would lead to a good class discussion on injustafébe past.

1.2.9 Note to the educatorThe comic strip need only be four frames.

Rubric for the Comic strip

(@)

CRITERIA

Level 1

Level 2

Level 3

Level 4

The learner is able
to identify factors
affecting an
environmental issue

3 marks

2 marks

1 mark

0 marks

Captions in the
comic and the scene
show that the learner
identified at least 3
factors affecting an
environmental issue.
The characters are
original and relate to
an environmental
theme.

Captions in the
comic and the scene
show that the learner
identified at least 2
factors affecting an
environmental issue
but the most relevant
ones were left out.
The characters are
original but do not
necessarily relate to
an environmental
theme.

Captions in the
comic and the
scene show that the
learner did
understand an
environmental issue
but the factors
leading up to it
were not identified.
The characters are
not original and
vaguely relate to an
environmental
theme.

Captions in the comic
and the scene show
that the learner did nof
understand what an
environmental issue
was. Comic was
unrelated to identifying
factors affecting an
environmental issue.
The characters are no
original nor do they
relate to an
environmental theme.

The learner is able
to inform and
educate the public
(other grade 9
learners) on an
environmental issue

3 marks

2 marks

1 mark

0 marks

The comic strip is
original and would
educate and inform 4
grade 9 group on an
environmental issue
well. Possible
solutions are also
given to the
environmental issue.

The comic strip is
original and would
educate and inform g
grade 9 group on an
environmental issue
but no solutions are
given on the
environmental issue.

The comic strip is
original but would
not educate nor
inform a grade 9
group on an
environmental
issue. No solutions
are given on the
environmental
issue.

The comic strip is
incomplete and does
not educate nor inform
a grade 9 group on an
environmental issue.

(6)
[40]
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TASK 2 SUSTAINABLE USE OF RESOURCES

ACTIVITY 2 INDIVIDUAL ACTIVITY (30 minutes)
G:LO2:AS 22,23

Note to the educatorSource 7 must be read and discussed in class &sgvaand information

before attempting Task 2.

Suggestionthave a class discussion on how learners have affected by power outages this year
andpossible solutions.

Materials neededEach learner will need glue, the cut out blocksrirSource 8 and A3 paper.

Suggestion:Have the learners cut out the blocks in Sourcél®ane before the lesson and place
them in an envelope for safe keeping. Use two sloéét4 paper stuck together or a sheet of
newspaper if A3 paper is not available.

Learners work individually and place the blockstba A4 sheet of paper in a flow diagram format
before pasting them down.

SuggestionExplain to the learners what a flow diagram is befattempting the task. Befinition

of a flow diagram or flow chart is ‘a schematic repentation of a process’. Concepts are linked to
each other, they can be grouped together and taeyflow from one to another. Learners can draw
arrows from one block to another to illustrate flev of process, in this case illustrating the
difference between renewable and non renewableggrsempply.

Rubric for Energy Resources Flow Diagram

CRITERIA Level 4 Level 3 Level 2 Level 1
The learner is able to 4 marks 3 marks 2 marks 1 mark
show the The flow diagram The flow diagram The flow diagram The flow diagram is
interrelationship shows how man usesshows how man usegshows how man usegconfusing and does n
between man and hispoth forms of energy.|both forms of energy |both forms of energy [show that the learner
environment. Examples of each forfinut the examples of |but the examples of |understands how man
of energy are each form of energy [each form of energy |uses energy supply.
illustrated and are all [are not all correct.  |are not given or are n
correct. connected to the
energy type.
The learner is able to 6 marks 4 — 5 marks 3 — 2 marks 1 mark

identify the distinctiorThe learner makes a [The learner makes a | The learner makes alThe learner makes ng
betweerrenewable arvery clear distinction [distinction between |vague distinction distinction between

non renewable energihetween energy energy resource typegpetween energy energy resource types
resources resource types. but there are a few [resource types and does not show a
The energy types arelerrors. but there is no connections between
connected and links [The energy types arelindication of parts  |the types.
are given. not all connected andbeing connected.
not all links are given
The learner is able to 5 marks 4 — 3 marks 1 -2 marks 0 marks
explain how the The learner clearly [The learner shows thiithe learner shows thifthe learner does not

sustainable use of  |shows that the use offthe use of alternative|the use of alternative show that the use of
resources can impaclalternative energy  [energy resources is |energy resources is |alternative energy
positively on people [resources is more  |more beneficial for |more beneficial for |resources is more

and environments  |beneficial for people [people and the people and the beneficial for people
and the environment.[environment but linkslenvironment but and the environment at
are not shown. unconvincingly. all.

[15]
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ACTIVITY 3.1 INDIVIDUAL ACTIVITY (60 minutes)
H:LO1:AS1.1,1.2,23,1.5;L0O 3: AS 3.1,3.
3.1.1 1948 1)
3.1.2 To make certain that different races were kepttdpall parts of society and to
control the movement of blacks and their abilityital job opportunities. (4x1)

3.1.3 Prohibition of Mixed Marriages Act. (2)
3.1.4 Reservation of Separate Amenities Act. (2)
3.1.5 Beaches. (1x2)

3.1.6 Answers will vary, but negative emotions such ag,lslhame, anger, frustration,
isolation, mistrust, offended etc. would be commiararners must list 3. (3x1)

3.1.7 Chameleons were people who were re-classified snerace group to another and
therefore 'changed colour' as chameleons do. 4)

3.1.8 10 ‘coloured' people were re-classified as Indian. (2)

3.1.9 Learners should be awarded 1 mark for every coateanologically placed fact on
the timeline (=7 marks), and 3 marks for the cargion of the timeline. (The
timeline should show a scale in regular interviatan left to right and be sensibly
spaced on the page so that its content is clghetceader. Award one mark for
each of these features if it is done correctly.) (10)

3.1.10 Answers may vary, but learners must reflect botirses in their answer. Source
13: Biko is neat and takes pride in himself- asid®ehis dress (suit and tie). He is
an educated man- the source says that he was aahsitident.

Source 13: he was charismatic/ had a powerful poese'magnetism' etc. 4)
3.1.11 Sources 15, 16, 17 are Biko's own words. (3)
3.1.12 Primary sources they were constructed dirtree (2)
3.1.13 The government banned 19 organisations lasdddown many black newspapers

such asThe World. 4)
3.1.14 He died in detention (jail) after having béertured. (2)

[45]
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ACTIVITY 3.2 GROUP ACTIVITY: A CLASS DEBATE
H:LO1:AS1.1,1.2,1.4,15,2.3
LO2:AS 2.2,2.3
LO3:AS 3.1,3.2,3.3
(20 minutes' explanation and class time for worikg)
(40 minutes to assess the debates)
(preparation to be done at home: 40 minutes)

TOPIC: IS IT WORTH SACRIFICING YOUR LIFE FOR YOUR P OLITICAL IDEALS?

Note to the educatorAfter you have explained the task, divide thescia groupsAll members

of the class must be allocated to a group and assuhe role of a speakeilell the groups which
side of the argument they will be presenting. Ajtan have done this, allow them to start working
on their arguments in class. Watch how the team& tagether in order to assess the final criteria
on the rubric below (individual participation).

This is a general topiclearners may use examples of Steve Biko's ldm fthe source material
provided, or any other information or examples thag through their own research.

This assessment should be seen as an opportumitiedmers to express themselves and be
assessed in a manner other than the written wolne. task also allows learners to understand the
importance of being able to work effectively inraup as it is the group with the best argument
that wins - not the individual.

The different functions of each speaker must befoly explained to learners so that they can
divide the roles effectively within their groupsgéod idea is to put up a description of the défer
roles somewhere in the classroom so that learnarslgok at it again if they need to. Assessment
criteria must be made available to each learnegtiade them in their preparation.

Groups should consist of 3 or 4 members dependmnthe size of the class. It is suggested that
learners decide for themselves within their grouwgso will take on each role - this is part of
working together as a group. The suggested roldsnveach group are as follows:

Speaker 1:introduces the group's opinion and the path thatewill follow

Speaker 2 (and/ or 3):present/s the main part of the group's argumedtraakes reference to
evidence to support the group's argument

Speaker 3 (or 4):reviews the group's argument and repeats the paairis that have been made.
This speaker/ these speakers may also argue agansf the points made by the opposition team.

It is suggested that while two groups debate tpecttor you, the educator, the other groups are in
another venue practising their debates.

Familiarise yourself with the rubric before you be@gmarking the debates.

[15]
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Criteria

Level 4
Excellent
6 marks

Level 3
Achieved
4 — 5 marks

Level 2
Partly achieved
2 — 3 marks

Level 1
Not achieved
1 mark

Speaker's role

There is evidence of an
excellent understanding
of the role expected.
Speaker 1 gives a
logical and
comprehensive
introduction of the
group's position and the
path the debate will
follow.

Speaker 2 (and/ or 3):
presents the main part (
the group's argument
and makes reference to
evidence to support the
group's argument.
Speaker 3 (or 4):
reviews the group's
argument and repeats
the main points that
have been made. This
speaker/ these speaker
may also argue against
any of the points made
by the opposition team.

There is good
understanding of the
role expected of the
speaker.

Speaker 1 gives an
introduction of the
group's position ang
the path the debate
will follow, but both
are incomplete.

fSpeaker 2 (and/ or
3): presents the
main part of the
group's argument
and makes referenc
to evidence to
support the group's
argument but does
not use as much
evidence as a Leve

54.

Speaker 3 (or 4)
reviews the group's
argument and
repeats the main
points that have
been made, but
points are omitted.
This speaker/ these
speakers only
argues against som
of the points made
by the opposition
team.

There is some

= understanding of the
role expected of the
speaker but the
learner seems
unsure of the role
expected of him/
her.Speaker 1
gives a poor
introduction of the
group's position and
the path the debate
will follow, but it is
unclear or illogical.
Speaker 2 (and/ or

e3): presents the
main part of the
group's argument
and makes referenc
to evidence to
support the group's
argument but does
not use as much
evidence or have as
strong an argument
as a Level 3.
Speaker 3 (or 4):
reviews the group's
argument and
repeats some points
that have been

emade, but not as
many as a level 3,
and many points are
omitted. This
speaker/ these
speakers does not
argue against points
made by the
opposing team.

The learner did not

> understand the role
expected of him/her.
He/she does not fulfill
any of the criteria of the
guidelines for speakers
included above.
Speaker 1 did not give
an introduction of the
group's position or an
outline of the path the
debate will follow.
Speaker 2 (and/ or 3):
failed to present the
main part of the group's

reference to evidence tq
support the group's
eargument.
Speaker 3 (or 4):does
not review the group's
argument and does not
repeat any points
already made. This
speaker/ these speaker
does not argue against
any points made by the
opposing team.

D

argument and makes no

|72}

Content-
argument

The learner has
constructed an
independent line of
argument showing his/
her own interpretation
and is able to justify it.
The argument is logical
and strong enough to
convince a majority of
the audience. The
argument is
comprehensive
(complete) - it addresse
all aspects of the topic
that should be covered
and has no gaps.

There is a clear
indication of the
group's argument,
but it is not as
convincing as a
Level 4, and the
learner is not alway:
able to justify the
argument. The
argument is not
always logical. The
argument has not
scovered all aspects
of the topic- there
are some gaps.

There is some
indication of the
group's argument
and point of view,
but it is not
convincing enough
5 for level 3 and the
learner is not able tg
justify the
argument. The
argument is often
illogical. There are
also major gaps in
the argument. The
topic has not been
adequately
addressed.

There is no indication o
the group's argument of
point of view. The
argument is weak and
completely
unconvincing. The
learner is unable to
justify his/her argument
The argument does not
address the topic at all.
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Content- use of
evidence

The learner has worked
with the sources given
and accessed a variety
of relevant sources
throughextra research
to produce a range of
strong evidence to back
up the speaker's
argument. There are no
omissions.

A range of correct
factual information

from the sources hasfrom the sources.

been used to back
up the speaker's
argument. However
there are some fact
that are left out and
no research has
been done.

There is not enough
use of evidence

Facts given in the
source material are
omitted or used

5 incorrectly, and no
extra research has
been done.

The speaker makes no
use of evidence from th
sources or research.
Argument is
unsupported by any
valid evidence.

1%}

Presentation

The speaker is able to
communicate the
answer.

The speaker's voice is
clear and he/she appea
confident. He/she
speaks neither too
quickly nor too slowly,
and the volume of his/
her speaking voice is

The speaker is able
to communicate the
answer, but not as
well as a Level 4.

rsThe speaker speaks

clearly and neither
too quickly nor too
slowly. He/she
makes eye contact
with the class,

The speaker does
not speak clearly.
He/she talks too

quietly or too fast or
too slowly. He/she
makes limited eye
contact with the

class and relies very
heavily on his/her
notes. Speaker lack

[2)

The speaker is not able
to communicate the
answer. The learner
speaks unclearly, speaks
too quickly or too
quietly, and reads the
presentation from paper.
The speaker seems shy
or uncomfortable.

neither too loud nor too| however, he/she confidence.

soft. He/she uses notes| relies too heavily on

only for occasional key | notes.

words.
Participation in The learner participates The learner The learner The learner does not cg
group's fully in the preparation | participates fully occasionally operate with others in
preparation stage, plays a leading | and enthusiastically| participates in the | the preparation stage

role, but does not
dominate others. He/sh
makes and receives
suggestions.

in the preparation

e stage and makes

many valid and
meaningful
suggestions.

preparation stage
but only makes a
few suggestions.

and is often disruptive.

Mark out of 30
(divide by 2)

Mark out of 15

Suggestion for content:

Yes:

The opportunity to do something that brings medfninghange to your society / country /
the world

Biko was continuously harassed by police and krie#/the was risking his life for his ideals
Students in Soweto were inspired by Biko and IUsieas

BC fuelled the 1976 student uprisings which mary &= the turning point towards the end
of Apartheid rule in South Africa

If Biko had allowed concern for himself to get Imetway of his political activities, would
SA have changed as quickly as it did?

Biko's knew that publishing and spreading his idsmadd get him killed yet he persisted and
paid the ultimate price

Those ideas changed the way black people saw tivaageositively

And liberated them mentally

Biko's ideas were non racial and continue to iresps in this regard even today

The fact that he died the way he did when he dith@young age of 30) means that we still
talk about him / write about him and that he hasobee a hero

E.qg. his face is on popular T-shirts / posters gsnetc
Therefore sacrificing your life for your politicadeals is worth it personally and in terms of
political ideals.
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No:

Biko left behind a wife and children

It was not fair on them

His son grew up without a father

Family should be everyone's main concern / priority

A father's role is to protect / provide for his figm

To put political ideals first is irresponsible

Biko's life and death affected his family deeplgt they had no say in his decisions= unfair
Biko's death did not make things in SA change

Biko was not the only person to talk and write & ideas at the time

The ideas he popularised while he was alive angpdmilarity as a leader is what brought
about change in SA

It would have been better for his family and hisimioy if he had kept himself alive and
continued his work more slowly or quietly

Much of what Biko stood for has still not been aoptished

Biko was against all forms of racism, much of whveh still see in SA today

Biko was primarily for the mental liberation of blapeople - in some cases blacks are still
oppressed or suffer from inferiority complexes

Therefore his death was meaningless

If he was still alive today he would be able to tame working towards his political ideals
and this would have been better for him, his faraig SA

Therefore it is not worth sacrificing your life fgour political ideals.

ACTIVITY 3.3 DESIGN A PROTEST T-SHIRT

H:LO1: AS 1.5

Note to the educatorLearners must create a T-shirt design that is Gleasy to understand and
eye-catching. Font type and size, the use of synhokhort meaningful phrase and the use of
colour if possible are elements of the design thay add up to make the T-shirt effective.

Spend 10 minutes introducing the topic to the clasd explaining the following points about
designing an effective image for a T-shirt.

The T-shirt's political message, based on histdrieat, must be clear to a wide range of
people

These people may only have a few seconds to gnageristand) the message of the shirt
Therefore the T-shirt must be uncluttered and orzreah consisting of an image and a short
phrase that will convey the political message yavehchosen

The image should be symbolic or represent the prateessage that the designer wants
people to understand

The phrase (slogan) used should be short and mghnin

Together with the image, the phrase brings acrbesiiessage to the reader

The size of the image and the phrase is importaobnveying its meaning

Once again, it must be large enough to be easidrby a passer by, but relative size of
the words and the image is also important and adohta the meaning of the design

For example, if one word is written bigger than ext$y the reader would assume that it is
more important than the other words

Positioning of the words in relation to the image dlso important in determining the
political or historical meaning, and learners shdive careful thought to this
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The use of colour (if possible) can add to meanihggarners are going to use colour in
their design they should think of using the colafrghe organisation or institution they are
designing the T-shirt for, or the colours of thertgaor organisation they are protesting
against

This will give them another opportunity to showittligctual historical knowledge
Otherwise, colour should be used to make the desigre eye-catching. Contrasting
colours are often useful in this regard e.g. blackl white; red and white; black and yellow

etc.
Criteria Level 4 Level 3 Level 2 Level 1
Excellent Achieved Partly achieved Not achieved
5 marks 3 — 4 marks 2 marks 1 mark
Design The learner is able to The learner has used The learner makes| The learner does no
Overall layout and use visual elements| some devices suchl some use of pictures use any interesting
design of the T-shirt to communicate as pictures and | and words to convey devices such as
(words and phrases/| historical knowledge,| words that convey @ the message. The| pictures or words.
other attention The learner makes | historical message, message ofthe T-| The message of the
grabbing devices e.g,| use of a variety of | but not as many as @ shirt is not easily T-shirt is very
the size of the writing devices such as Level 4. The understandable and difficult to
and, if possible, pictures and words (@ message is not as| very few people find understand.
colour). phrase or slogan) in easily it convincing.
order to understandable as a
communicate Level 4, and only
historical knowledge| some people are
The message is convinced.
clearly
understandable and
convincing to a
majority of people.
Content : purpose- thel The learner's opinion The learner's The learner's The learner has failed
T-shirt must clearly put is immediately clear| opinion is clear to criticism of the to communicate
across to the public the to the viewer. The the viewer, butis | Apartheid law is not| his/her criticism of
criticism of the law | learner has put acrogs  not as easily easy to understand| the chosen Apartheid
that has been chosen (communicated) understood as a The learner may law. No viewers
his/her historical Level 4. The learner have made a clear understand the
understanding of thg has achieved the | point but it is not as| learner's opinion, ang
chosen Apartheid law aim of persuasive as a | none are persuaded,
and his/her criticism| communicating his/ Level 3. The content of the T+
of itin such away | her criticism of the shirt is obscure or
that it is able to chosen Apartheid irrelevant.
persuade the majority law, and is able to
of viewers. persuade some
viewers.

[10 marks: convert to
a mark out of 15 =
x 1.5]

Total: 15 marks

[15]



